VI2'PI ANIND D'DIDJXRI DAY
||D:m D'WVIND D'DJNIX




ATy nnx naonn RDYT

N72N 9919

NOP! YR ITHHY 1987 NYWI NDPINY NNNDNI NOTNN NPYDION NIRYOY 1YID TWNND 1996 NJWI NDPIN "RDIT”
2N WIVIND YUD NIDIYDI WIN'WI DD TN NPYNND Y IN2 NY2N NWYNYD PODY NLND ,NYHOY

2NYMOW INTINYOW ORIM Y NOIYNN NNNOWD MN2N YN RDIT
NN NYDL NN NNV N N ,NY2 DHAND [IDDNI DIV DIDWH DD TN DNINID SW NXONIKID JIX' NPODIY M2

N2PJ1 12T NILIDI DXIP NIXDOIP 12D 9”IN2 DIXIDNN D'OTN DIXIND WIN'WI NIDTPNN NIL'W DIV IXION N7 XDIT
DY2X YW W2 YIOIPO DWON DTN ,DPDD DNION ,D'NNL DIOJNIN W NN YAIYI DIDIDSN ,|IDD2 NP'Y! NIPDOND
DT NP 119NH

NY2N NWYNY DHOTN DONID [UDNI NIN'D PIPWIIX',XID' :D'DINN2 ISO 9001:2015 [PN NJNDIN XDIT

19 SV1 NIDTPND NIAINYID DHFOID DANINI DNIXIN W 21 190D (outsourcing) ”¥IN PN’ NLWI NOYON MIXID RDIT
.DOIVND DYIV DYIN! HW (licence) "[IDT”

1911 NN2NN NIXIND [1D) WIN'W N VIXDD DDTPNN NYNND NN [92P51 JONNY YIDH NTVIDN NYDL NPSNND RDITY
2NN XD NIYXDXD NY2N )HONN

JIN2N2 DX VIXD 452D ,DNPOD , DIDTNNY [IYV 1D WIN [DIXD NDUPD NDIT

DD TN DININD XTI NINDNDD DIV NIYVITAN NN2N NPTV NAXPD XDIT,NIXYD XDIT DNIX DNIXIDN 72590
NIN2NN 042N DYDNDAD DRPIIDKI D'XOINX NIDX YpPN D'DXINN

D'LJNIXD DN NIYXDXI 2N NIDIWD LAY NIYYN XM DIV NYADNINPTNIN NN2NN
.DEHA-I FRIMEDA NID'w2 NN Y2y 300 NNpl Iv2n D'ninv

NT99 NILIN SV 1NN 2N POIY DJLD NSV IT HTI2 2ND NIV NNDNDN NN
.DWOIND

(NYnN11) HALFEN-LEVIAT

(N"YNX) ANCON-LEVIAT

.D"DNDL DNNID YW VIV NDIND D'LIDYR NYIN! (NYNM1) PFEIFER

) ) ) ) npni AVAL) n
(1Y NIYYN NIYXDKD 1YY NIDIWYDI LW YIXIPD DYDY 2R [1I2'Y NTX X' ANDNNN NN2N (DNN) HAZ METAL

WIS WK N0
D221 NTYD NINWNIE AR NIDX NISXIY NIYIX'NN NDDNN NIKIN NDW NX IRNDNY N2NN (N52) BUZON
JID2DI PPODYDN PN NIV XM DNPNDN NN2N (ND>7IN) NEO

NISX NIDXIY NDDN NI DI,[ID2DI PODYON PN NINIY XD DNPNDN NN2N (NDIN) GURBETCILER

LNDTX NITYIY DNONI NILWONN NON DINN2 DIV NY2INN NN2NN (2Q"NIN) C/S GROUP

NNINIPY AYIXD XDIT N2NY DIXINDD YW NPON NN HnH

NP'N! NIDWDNIENPOONT C.BOX DIXIP NIXDOIP ««

BMS / D.BAR / UPSET/ D.MBT [I'l NIDIN NJIXRNY N2PJI DT DYID D2ND <«
D"DND D'OJNORD VY'WI NDIN NN YVIRPY DIOIDIN

D"DNL D'OJNOIND VYP'WI DN YAIY <«

DomaNet NTY9D NINWN |2 PNIN NIV JID2DI P'ODYON PNIN NIV <«

NIVYIND NIY2NY DINX DNDOWHD DRI DNOD ATT NIDID «

2100 M19'NI’YPI2 NDIWI 2K NING VIXPY T292 316 "2 NLONYD (NID'D) DI <«
w2 191N NDWI X NIND (129 DTN«

12OV INT D 212JMOW ORI DTJNND
anIwn 9"Jn anIwn 5"dJN

NNIDWY NN 93 © 2



DOMA

ONE STEP BEYOND

102D D'WVIND D'DJNIX NNIND DYAIY

—

? EE— e

L

LTy

7 4

A

—
D

e P ——
- N .

! I

3 NNIDWY NN 93 ©



Flat Head Anchor System

ATy nnx naonn RDYT

ID2D D'WVIND D'DJNIX NNIND DYAIY

Bw = 15 N/mm? [ID2 PTIND D'ON"ND DYINJN

Two Hole Anchor - DIN 2 NDIN A1V

.DIND (102D D'VJNOX NNIND DN YW DY AN [AIY

12VNY DRND INENNIN ITAXRY DIRND N DY ST 52 NT99D INID
15 YHIXD 5112 NILID

NYIN N 10YDND W [1I02N YD YD DI IR DN YW AN IY
INKD .NTOXN NN NIYXDND NTY9N NYINY INIX YIPOI'DIAD Ypw
12X NN 12NOI (102NN NN YPWN NYIN NX RIXIND W NPIXN NI
Nsahh

DXNN2 DUPOIXR D'PIVINIYIIXD 'Y 9712 'DIND W' DNIN YW [AIVD
.2 N9%209

1020 Y9 HYD LY PR IV

JIMIN'2 NNIN NV

NDINN NTIX YW DD PNDIIRIN

JNIXD DT DYAYD NX 192D NY

7292 DWOIXD [T NIDIN NIYXNXI YXIID |17

JDNLN DJNORN YW NPINN DA INKRY [IPJIEIN'N 219102 IX 'R
3.0 'YDYD |IND DTPD

196 - 191 D'LID DX - TIX 199 'DTNY |NY D'ODIY DYAIY

NNIND XD 2N NP RDIT2 NYDILN NPINNY NIYOY XIDIN

i
OIRN

:N2D7N |DIN

nynn?

JNNyn

NJPNN NITOI D'ODIY - DFZ 2100 DNIN 2 |21y 1 n%0

DDIY 80% ODIY 100% "2 PNID
ININ ANIN | NN DN 'Jlf)yD{]:gD 121V '1DID d c b a NNIN DNIY 0"pn oD
NIT IWUND NIT IWND NXp TV P ,1 - P mnin
£>30° NNIN | B<30° NNOIN 2’)?2:‘&?:)} DJNONN (D) | (D) | (DD) | (DD) a"p) R o)
(kg) (kg) €z (mm)
1,120 1,400 80 500 20 6 14 30 1.4 DFZ1.4 19007
1,600 2,000 20 600 20 8 14 30 2.0 DFZ 2.0 | 19008
2,000 2,500 100 600 90 10 14 30 25 DFZ 2.5 19000
2,400 3,000 100 650 120 10 18 40 3.0 DFZ 3.0 | 19009
3,200 4,000 110 700 120 12 18 40 4.0 DFZ4.0 | 19010
4,000 5,000 120 750 120 15 18 40 5.0 DFZ 5.0 19001
6,000 7,500 130 1200 160 16 26 60 7.5 DFZ7.5 | 19002
8,000 10,000 140 1200 165 20 30 60 10.0 DFZ 10.0 19003
11,200 14,000 160 1500 240 20 35 80 14.0 DFZ 14.0 19004
17,600 22,000 180 1500 300 28 35 80 22.0 DFZ 22.0 | 19005
20,800 26,000 200 1500 300 30 65 120 26.0 DFZ 26.0 19006

IPOIX PIWIN NODIN Y910 NJPNN DI IPOIX PIVIN NODIN XYY NJPNN DI

B 100% Fperm B

VPWN NYIND IWOKRN 92D 2NP N POIRND PIVIND DIP'D

NNV

:D'RJNND TNX D'PNNY 'RJN2I 30°<P<60° [N DN NIIT IWKD 'POIX PIVIN NODIN XY NNIN VNI [NY .1
(2x er) WD ODYDN DJDIRN 2UYD 3 19 1J'D DIPN DJNIRN UV Bw 215 N/mm? |1 PTINY X
(2x er) WITJN HNDYIDN DJNORN 2UYD 2.5 19 J'N DUPN DJNIRN VI Bw =25 N/mm? [IDD PTINY .2
(2x er) WITJN HNDYINDN DJDORN 2UYD 2 'O 1N DVPN DJNINRN 2IVI Bw 235 N/mm? |10 PTINY .2

100% SV ININ NNIN DRIV 2WNY [NY 30°<B<60° NN NIMTI Bw =23 N/mm? [ID2 PTIN TWKRD .2

B>60°-D NYITAN NNIN NIT2 WHNWNY IIDX .3

NNIDWY NN 93 © 4




DOMA ONE STEP BEYOND

Flat Head Anchor System 102D D'WVIND D'DJNIX NNIND DYAIY

Two Hole Anchor - D'IN 2 NDIN |21V

Bw = 15 N/mm? [ID2 PTIND D'ON'ND DYINJN VYOIND [I'VY HT2 NIT'HD - DFZ AIDD DIIN 2 A1y 2 192D
8>30° NDIN NNIT B<30° NN NIT ANIND IINN
91712 ' NV 9112 "1 NWN
p',‘?)'o']@ DROMI@D T ppwn 2D [DROMI@ e faxppien 2-p (DO
ds'1 i ds2x1s2 | *NXp dsxls TN ds2xlIs2 | *N¥p | dsxls TN ’I"']DI;) NICI)IT oo
(n”D) (n"n) 0Ip (n”n) *Iyn (n”Nn) 0Ip (n”N) *1yn )
(n”n) D /2D"D (N”N) N /22D"N I
1 1 4 1 'Dlen 2
(@6x900) | (210x650) | (oexa00) 31 | (o10x650) Dmpn  (zexac0) 31 | 14 DFZ14 119007
1 1 4 1 opn. 2
(@8x950)  (@12x800) & | (@ex500) | 31 | (z12x800) D"pn | (zexs00) 131 | 20 | DFZ2.0 119008
1 1 4 1 ogpn 2
(28x1200) (212x1000) '© | (z8x600) '3 |(@12x1000) D"pn (z8xe00) 131 | 25 DFZ25 19000
1 1 4 1 opn. 2
(@10x1150) | (214x1000) 'O (@exroo) 3" |(@14x1000) DUpn | (@ex700) 31 | 30  DFZ3.0 119009
1 1 4 1 opn. 2
(@10x1500) (216x1200) 2 (@8x800) 31 |(@1ex1200) DUpn | (@ex700) 31 | 40  DFZ4.0 119010
1 1 4 1 ogpn 2
(212x1550) (216x1500) 2 (210x800) '3 |(z16x1500) Dvpn (zexsoo) 131 | 30 DFZ5.0 119001
1 1 4 1 2
(214x2000) (220x1750) 2 (@210x800) '3 |(z20x1750) '© (z10xs00) 131 | 73 DFZ7.5 19002
1 1 6 1 4
(216x2300) (225x1850) 4 (210x1000) 31 |(z25x1850) 1% | (z10xs00) 131 | 100 DFZ10.0 19003
1 1 8 1 4
(220x2600) (228x2350) 4 (210x1000) '3 |(z28x2350) '* (210x1000) 131 | 140 DFZ14.0 19004
1 1 8 1 4
(225x3000) (228x3000) ' (z10x1200) '3 |(z28x3000) '* (z12x1200) 1371 | 220 DFZ22.0 19005
L 2 16 8 131 2 14 6 131 | 26.0 DFZ26.0 19006
(228x3450) (28x3050) (212x1200) (228x3050) (212x1200) : :
- 3x YN IR TN 9T IR
? ¢ ds= nxp o Is2 = Q)X |12'Y LID NODIN

N
v

~ls2 /2
~07x lsp/2

|
| g
|
|

1

=

|

|

| |
IT T \)

DN 21V IWORN I NP npn‘\)lw') NP pIwIn J

ds2 = DX VOIXD VID

DX IA'Y OID NODIN

o o b
Z=TEN i o
: : | ))>
v v l T/‘
'POIX PIVN Is1 = (2 x YOX IR YW 2PN 2AWN) NH9I IR NTD

(VPWN NYIAND IWORN 10D 2NP ITHXND W) ds1 = 'POIR YIIXD DID

D'RJNND TNX DPNNY RJN2I B60°>30° [N NNIN NIIT IWURD POIX PIYN NODIN XD NN YXIY INY D
(2x er) WITJN HNYIDN DJNORN 2UYD 3 'O 1N DI'PN DJDIRN 2IVI Bw 215 N/mm? [I02N PTINY X
(2x er) WTJN HDYIPN DJNINRN YD 2.5 19 IJ'N DIPN DJNORN 2UYI Bw =25 N/mm? [ID2N PTINY .2
(2x er) WTJN HDYIDN DJNINRN 2UYD 2 'O 1JN DIPN DJDIRN AYI Bw 235 N/mm? [ID2N PTINY .2

NIP2TN YNDKRNS DN [ODPN Ls2 DJRN 91120 HW RN DT, N0 IXDN VD 102 PTIN NYIP2
Bw=25 N/mm? :x0.8 ;Bw=35 N/mm? :x0.65 :X2 2IW'N '99 ININN
DTN NPOND DY WP XD WINT 10D OW DPIND IR NI INJ (102 PTIN NP2 -

(4466-3 ORIV [PN 199) 500 N/mm? :9NY'D NO'T) YDRD *

) NNIDWY NN 93 ©




ATy nnx naonn RDNT

JID2D D'WVIND D'DJNIX NNDIND DYAIY

Flat Head Anchor System

(NWNT 195%) DIDDIY DYAIY

DFP DFA DFU DFF DFP DFS
219D [a1y nnINY [y Iy [y 9NI9D |21y D'D2 DY AV NI Y
D'TIDYY naoIvn ni%wn am HDYIX
196 'OND LD 195 DD LD 194 'OD LMD 193’DD LN 192 'ODPD LD 191’0DD LD
g B
2 ]
¢ ""

NNIN YAV ITY NTIX

(Frimeda NL'W) D'NILY NNIN YAIY NIYXDXI NNIN NOLIW DTIX WID'W
JIDYD NAN2N DY NOND NATW NDIN2I TDY 'DIAD NIXID 'NIAN NYIN DINN
17y 1022 XYW YPWH NNRNDN NN NY2DD N2DYIN ANINN DRI
JDIN NYIN
NTOXNN NN IDRD NYIN N2 YIND [HDYD IPIND DOIN AN 12D [DIN
JWWY |2IX2 D!'DYID NN NYIN NX .DPIXIN NYIN S0 NDNND
NIVIND YW TN W AP INKRD .NYINN NS 52PN 10JD! DY'DON
NIYXDXII TYIDN DIPN2 NN NYIN NS (TN X)) NNP WX HYI 912
NX [PWH XODIN DI1IAN NYIN DX RINXINDININDD 957120 NIVIN N2YXN
PN NI INKRD DN GIOWI1 NPIXD YO NIYIN DWW 'DIA NYIND
(111D NJO! NINDIN |'OW D NNINN |NT2 DYIND W ADINN NRYIY NX
12100 1D
.D'YIN'W 21 D'ONOX DY
.DIDJNONRN 9D N 1DIX NOVYI NTIRAY NOW DX 19X DTN
N9 NpITNN
NWUNT 9% NN NIRDID pon *
Vpw nyan NTOXD N'NIY NN NXOIO
min n()?“)\)n o NDIT O"PND NDIT O"PN NDIT O"PN
! LD 100D LD 100D LD 100D
0.7 - 2.5 DFA 2.5 DFH 2.5 DFR 2.5
) ) (19700) (19704) (19708)
3.0 - 5.0 DFA 5.0 DFH 5.0 DFR 5.0
’ : (19701) (19705) (19709)
5.3 - 10.0 DFA 10.0 DFH 10.0 DFR 10.0
) ) (19702) (19706) (19710)
_ DFA 26.0 DFH 26.0 DFR 26.0
(el = 200D (19703) (19707) (19711)
DFA DFH DFR
NNIN NXOID YPW NYyan ('NY9 21) YpY NYon ('DY9 21) NTRXN NXOIH
('"nyo 20) 19704-19707 19708-19711

19700-19703

8/

SPYAINDHN NDJIN - 2 25

Ial
.\ﬁj’ o P
. v

nnINY qub') 12N - A5V [[»h]s] NY2NN NN - ‘R W

NNIDWY NN 93 © 6




DOMA ONE STEP BEYOND

Spherical Head Anchor System [ID2D D'WYIND D'DJNIX NNIND NNIDD a1y

DomaPin Anchor - Nn"V9 |21V
.DIND [ID2D DDJNIXR NNIND "NNIVO” |AIY WID'W
JINNNN PHYN2IIHYN PON2 N2NIN DY "H12Y DIN” NI NTYOD Iy DIRN
PIAD YPW NYIN N 109N W' JI02N YO HYD D PR "NN0D” AIY 12D |DIN
W1 NPIXIN NI INXRY V2P 012 NIYXDXRI NTYON NYINY INIX YIPII
NDINN TR NX 12ND1{ID2ND 'DIAD YPWN NYIN NX XININD
102N 1D HYD LI PN AV
N'MIN'2 NNIN NLWY Nynn
NNINN NTIX YW 1D PNoIIIRN
TIXD DT DYV NX 192 [NY
NNLN DJNORN W NDINN DA INKD IPYI NN 51910 TIX 'R
3.0 '9DYD |INL DTPD
NWNT 195 NNNXR IR DITD
303 TVI 301 D'DNID IR - 1IN 199 'DTND INY D'ODIJ DYAIY :NNYN
DIV NN VI'D NYIPY XNDIT2 NYDINN NPYNNY NS XHDIN
D2 D1 D AV IR - L NI AN ODIY [v149)0) ‘On
(N“P) (n“P) (n“n) (D“nD) a”p) NDIT (vIals}
40 DP-13-040 20000
50 DP-13-050 20001
55 DP-13-055 20002
25 18 10 65 1300 DP-13-065 20003
85 DP-13-085 20004
120 DP-13-120 20005
240 DP-13-240 20006
45 DP-25-045 20007
55 DP-25-055 20008
65 DP-25-065 20009
75 DP-25-075 20010
35 25 14 85 2500 DP-25-085 20011
120 DP-25-120 20012
170 DP-25-170 20013
210 DP-25-210 20014
280 DP-25-280 20015
75 DP-40-075 20016
100 DP-40-100 20017
120 DP-40-120 20018
170 DP-40-170 20019
1 4
>0 36 8 210 000 DP-40-210 20020
240 DP-40-240 20021
340 DP-40-340 20022
420 DP-40-420 20023
55 DP-50-055 20024
65 DP-50-065 20025
75 DP-50-075 20026
85 DP-50-085 20027
95 DP-50-095 20028
110 DP-50-110 20029
50 36 20
120 5000 DP-50-120 20030
180 DP-50-140 20031
210 DP-50-210 20032
240 DP-50-240 20034
340 DP-50-340 20035
480 DP-50-480 20036
(LYTJOD) UNY DYAIYD NN
201XX DD LPN,[I1V1AND N2 DYAIYN NX HIPY INY

7 NNIDWY NN 93 ©



RIMT

TP DNKXR NAVNN

Spherical Head Anchor System [ID2D D'WYIND D'DJNIX NNIND NMIDD a1y

D2 D1 D [V IR - L NN NN ODIV L”PN ‘DD
(n“p) (D“D) (D“D) (D“D) "p) NDIT (blals}
100 DP-75-100 20037
120 DP-75-120 20038
140 DP-75-140 20039
60 46 4 160 7500 DP-75-160 20040
200 DP-75-200 20041
300 DP-75-300 20042
540 DP-75-540 20043
680 DP-75-680 20044
115 DP-100-115 20045
135 DP-100-135 20046
150 DP-100-150 20047
170 DP-100-170 20048
2
70 7 8 200 10,000 DP-100-200 20049
250 DP-100-250 20050
340 DP-100-340 20051
680 DP-100-680 20052
140 DP-150-140 20053
165 DP-150-165 20054
200 DP-150-200 20055
8> 69 38 300 13,000 DP-150-300 20056
400 DP-150-400 50057
840 DP-150-840 20058
180 DP-200-180 20059
200 DP-200-200 20060
300 DP-200-300 20061
8> 69 40 300 ALY DP-200-300 20062
500 DP-200-500 20063
1000 DP-200-1000 20064
200 DP-320-200 20065
250 DP-320-250 20066
280 DP-320-280 20067
133 88 >0 320 32,000 DP-320-320 20068
700 DP-320-700 20069
1200 DP-320-1200 20070
500 DP-450-500 20071
1200 43,000 DP-450-1200 20072
(LITJLD) NUNW DYAYD NN
201XX DD LPND,[1D12D N2 DYAIYN NX 2P INY
(NWNT '99) D'ODI DYAIY 1D :VINID D5V
o O =3
X/ : %
301019OD | 302DM9‘ODn | 303D DD v
DYANDO PIY | NN0O Iy | DY NNLO Q1Y NYANY VA VI | 102D NYIND NOHW
[y Ny 102 NNLYIYY 2N D'2 N RIVAVIRTP- | IDAAD N

NNIDWY NN 93 © 8



Spherical Head Anchor System [ID2D D'WYIND D'DJNIX NNIND NNIDD a1y

NNIN YAV ITY NTIX

JNNDO” NIIND NNIN YAIY NIYXDXI NN DLW DNTIX WID'W

9PV .N1NYD NAN2N DY NOND NITWY IDIN2I THY DI NIXID NYINN NINN
JDI2 NYINN Y 1022 YPWY NDIRNDN NNIN NY2DD 20D ININN
-Dm NY2IN NN DN NY2IN N2 XN 11DV 1PN DJOIN [AIVD

NPININ INKD .NPIN'D NYIN 92109 V2PN NI2 NIYXDXI DYIPN 120710 [DIX
an DIAN NYIN "||n‘) (TN XY) NNp UXD ")y) 5112 NILIN YW 1'1mb
JDIAN NYIN NXR XRIXINDININDY ‘m:w NIDIN N2OXN NIYXDNII TYIDN
DN IDWI1 NPIXIN YO NIYIN [DWI DI NYINN DX [DW XHDID
NPINID DA INKD
(11" YO NINTLIN 'OV 1D NNINN DT DYIND W INDINN HPW NX
72100 DD
.D"YIN'W 21 D'ONYX

INIX 9V NITNI DIVJNONRN 9D NNT NTIAY NO'W DINIY 19X DTN NN
1Yo
NP NPITNN
(T19J2 DIHYYN) NWNT 199 NPT PON *

Vpw nyan VpwW nyan vi2'p 1N NN HYpw
1”?,:“%0'” oy NDIIRD
o XDIT O"PD XDIT O"PD NDIT PN NDIT VP
I (b 1a[sBalslv)s] LD 190D LMD 190D LMD 190D
13 DPA11.3 DPA I 1.3 DPH 1.3 DPR 1.3
: (20400) (20407) (20414) (20421)
o5 DPA 2.5 DPA I 2.5 DPH 2.5 DPR 2.5
: (20401) (20408) (20415) (20422)
50 DPA 5.0 DPA I 5.0 DPH 5.0 DPR 5.0
: (20402) (20409) (20416) (20423)
75 DPA17.5 DPA Il 7.5 DPH 7.5 DPR 7.5
: (20403) (20410) (20417) (20424)
10.0 DPA110.0 DPA Il 10 DPH 10.0 DPR 10.0
: (20404) (20411) (20418) (20425)
200 DPA120.0 DPA Il 20 DPH 20.0 DPR 20.0
: (20405) (20412) (20419) (20426)
320 DPA32.0 DPA Il 32 DPH 32.0 DPR 32.0
: (20406) (20413) (20420) (20427)

o

DPA | DPH
N2y ypw nyon vIDIp NI2
20400-20406 20414-20420

g
DPA Il = DFR
NDIIND YPW NYJIN NN HpW
20407-20413 20421-20427

9 NNIDWY NN 93 ©



ATy nnx naonn RDYT

ID2D D'DJNIX VI2'PI1 ANIND D'DIDS'R

-

——— T ey

* —
— e

——— FTEe

NNIDWY NN 93 © 10



DOMA

ONE STEP BEYOND

102D D'DJNIX VI2'PI1 ANIND D'DIDSX

1140 VI2'PY DIDJ'X

(1025 DYIV D'DJNOX VID'PD DIDJNR WIDWY

WY |10 [12'V9 90°-2 D1DNI NXP2 XINOND D12y X NIIND DIDSN DINN
DIp2 NJISIN NTY9D
[102ND NDHYW DYIP NIYXDNI NDHW IDDIY W NPV YV HVID

NIYXDND IX NYINN 2AY T 12 12 NIYEDXDI DIDSRN DX YIPI W' 12070 [DIX
12N DNINDD NIYXYDKRI YIPY INIXI 2288 DN P'ODYD PPO NAN2N
q'DINI DX2 N920N 7OV N 'DDIY NYIPY 'POIXR PIVIN 1IYNH W
.DX1 N920N oY DIDJRN YW NIDDN NTIPJL 'POIX |1V DID
N1Y2and viap Hp

DPIXD INKRD DITAD NITPN ARXIND 102N NIPTON VJID Dy
.DDNLN DHYONIIINKD WIN'WH DIRND
NUNTI9Y 150 HX NTHD1 NNNR NITD

1252 DYYIXD I NIDID NIYXDXD YXIDD [N NNYN

V2IXD 12V 5772 NIT'DI D'ODIY

DX2 oI PIUN DX2 POIN PIWN D1 DX (1Y DID * V1P DDIY 5 oD
d2 IR L2 IR d1 IR L1 X ” NDIT [b1a]s]
% (15%)] (n”D) (n”N) (n”"D) ')
O 8 200 6 200 300 | 1140 M8x50 21000
8 200 6 200 600 | 1140 M10x60 21001
a2 8 200 8 300 800 1140 M12x70 21002
8 250 10 400 1,300 1140 M16x100 21003
8 350 12 400 1,200 | 1140 M20x70 = 21004
10 400 12 600 1,600 | 1140 M24x80 21005

POIX W YIIXD DID *

NIMDDINA NITD 1140 YI2'P DIDJ'X SW NINDDIRA NIT'D

dnom a D e L Ny O"PN ‘DD
(N"N) (D"N) (N”N) (n"Nn) dnom NDIT [bla]s)
M [aan 20 10.5 30 50 M8 1140 M8x50 21000
' 25 13.5 35 60 M10 1140 M10x60 21001
b oxi |L 30 17.0 40 70 M12 1140 M12x70 21002
4 35 21.3 32 100 M16 1140 M16x100 21003
oz 30 26.9 30 70 M20 1140 M20x70 21004
_ 35 33.7 24 80 M24 1140 M24x80 21005

11 NNIDWY NN 93 ©




TP DNKXR NAVNN

RIMT

ID2D D'DJNIX VI2'PI1 ANIND D'DIDS'R

DX1 DX |I2'Y DID

L1

DX2 'POIX PIWM
L2

. O

dZT

NIMDDIRI NITD
@D

dnom |

| Tixe
N

al)

995G VI2'PH LIDJIX

(1025 DYIV D'DJNOX VIDPH DIDYR
J12'V9 121V N DY NINKD INXP2 XINON 212y Y NIIXD DIDSX
NTY9D MUY 1LY ('Y HTI2 SV NIP2TN 'ODIY YW |NPYN DY VIO

DIp2 NIbnn

NIYXDXI IX NYINND 2AY T 21V 12 NIYXDNRI DIDJRN NX YIPH W
12N DNINDD NIYYNDKI YIPY INIXI 2288 DD P'ODYD PPO NAN2N
W1 .DX1 N920Y DRNN2 YIIXD [12YY D112 12V W1 INNNN IPYN2

.DX2 NY205 DXNN2 N 'ODIY NY2PY DIPOIX DIPIVIN VYN
JYand viaps Op
PN INKD DITAD NITPN DRXIND 102N NIPTON VJID
.DIDNLN DHYONIIINKD WIN'WH DIRND
NWNT 199 750 5X NT991 NNNR NITD
T252 DWYIND (1T NIDID NIYXDND YXIDD |12V

VIIXD [1I2'V 5772 NIT'DI D'ODIY

wInw
OIRN

:N2DIN |9IXR

nynnt

NNV

DX2 'pOIXR pIV'N DX1 '"2JX |12V DID yl:)-']i])_“\)):)Dlv D"pn on
d2 IR L2 IR d1 IR L1 IR a’p) NDIT Lo
(N"N) (D"D) (0"D) (D"D)
8 200 (') 6 50 350 995-G M10x50 21100
8 200 (I'o) 7 50 500 995-G M12x60 | 21101
8 250 8 300 1,200 995-G M16x100 | 21102
8 350 10 400 1,400 995-G M20x120 21103
10 400 12 400 1,800 995-G M24x120 21104
12 450 14 600 2,750 995-G M30x150 @ 21105
PONEW SNy o ('0) *
995G VI2'p DIDSX YW NIMDDINA NIT'D
a D e L dnom O”"PN ‘OD
((»X9)] (D"N) (n"N) (n”"D) NDIT (b1 [9]
6.2 13.5 20 50 M10 995-G M10x50 21100
7.2 17 23 60 M12 995-G M12x60 21101
12.2 21.3 45 120 M16 995-G M16x120 21102
14.2 26.9 40 120 M20 995-G M20x120 21103
14.2 33.7 50 120 M24 995-G M24x120 21104
15.2 42.0 70 150 M30 995-G M30x150 21105

NNIDWY NN 93 ©




DOMA

ONE STEP BEYOND

102D D'DJNIX VI2'PI1 ANIND D'DIDSX

DX1 D)X |12y LID

L1

A,

ST

DX2 'poIX pIw'n

L2

O

NIMLDIRIA NITD

@D

dnom

I

=

—-

i

N e
nanan

NIYXDKXI IX NYINN 12UY T 121V 12 NIYXDNRI DIDJRN NXR VIPH W

995DG VI2'PI NNIND DIDJN

J1D2Y DYIV D'DJNIX VI2PI [ID2D DINNL D'OJNIX NNINYD DIDJNR
J12'V9 121V NN DY NINKRD INXP2 YINON 212y Y'Y NIXD DIDJR
NT29D MUY JILDY (1Y HTI2 HW NIPATN 'ODIY SV NPV DY HVID

DIp2 NN

YN DNINOD NIYXHDKXI YIPY ININI 2288 'DD PODID PP NN
1YY W1 ,DX1 19200 oY VIIXD 1Y 91712 12YND W INNNN 1PN
[D72,DX2 NHY20N 7OV DIPOIRN D'ONIVI NYIPH DIPOIX D'PIVN
NTAI0DIY NO2PYD D1 VYW IDINN
1N viarp Hp
PN INKYD DTN NITPN NXRXIND [1022 NIPTON VJID
.DINNOLN DHYDONII NN VIN'WH DIRND
DWUNT DY 15N HXR NTI91 NNNX NITD
12952 DYYIND |IFT NIDIND NIYXDRD VXD [12'VD

i
OIRN

N2 |DIXR

nynn?

NNvn

V2IXD [1I2'Y 5772 NIT'DI D'ODIY

DX2 'POIX PIWM | DX1 DX |12y DID n?a)%lr):‘; 83::_; i op
d27R | L2 | d1 IR | L1 IR mnin mnin NDIT LMo
(D"D) (n"n) (n"D) (D"D) "p) ”p)
8 200 8 550 700 1,000 | 995-DG M12x60 | 21200
8 250 10 800 1200 1,600 995-DG M16x75 21201
8 350 12 1050 2000 2,600 | 995-DG M20x90 21202
10 400 12 1150 2500 3,500 995-DG M24x100 21203
12 450 16 1500 4000 5,500 | 995-DG M30x135 21204
995DG VID'DI NNIND DIDSPX W NIMDPINA NIT'D
g D e L dnom L”PN ‘On
0"D) ("n) (0"D) (n"n) NDIT DIRD)
10.2 16.0 35 60 M12 995-DG M12x60 | 21200
13.2 215 22 75 M16 995-DG M16x75 21201
15.2 27.0 25 920 M20 995-DG M20x90 21202
17.2 32.0 30 100 M24 995-DG M24x100 21203
22.0 40.0 35 135 M30 995-DG M30x135 21204

NNIDWY NN 93 ©




TP DNKXR NAVNN

RNT

ID2D D'DJNIX VI2'PI1 ANIND D'DIDS'R

DX1 D)X |12y LI

|
|
I

AT

L1

DX2 POIX PIWUM
L2

O

d2

NIMLDIRIA NITD

@D

dnom

mMike
nanan

@g| -

/l‘_-!:_l Z

6400-G (Lifting Socket) VI2'PI NNINY DIDJN

(1025 DYIV D'DJNOX VI2'PI [ID2D DHDIND DIVJNIX NDIND DIDJIR
DIP2 NJIDIN NT99D WY 12tV 121V 1IN DY 212V 'Y NIIXD DD
102 12tV 51712 YW NIP2TN ONIY SV NPV Y HVID

NIYXDXI IX NYINND 2AY TIT 21V 12 NIYXDNRD DIDJRN NX YIPH W
YN DNINDD NIYXHDKRI YIPY INIXI 2288 DD P'ODYD PPO NAN2N
YN WI,DX1 N920N 7OV YIIXD |11V 91712 12VNY W INNNN IPON2
[DT2,DX2 NY20N oY DIPOIRN DIONIVN NYIPH DIPOIX DPIVIN
NITAI0DIY NYIPD D1 VWD ADINN

JY2and viaps Sp

.Rd 0912y N2 M NMLNHID - NIAN2N D YW POIDD

PN INKD DTN NITPN NXRXIND [1D22 NIPTON VIIN

.DIDILN DHYONII INKD WIN'WH DIRND

NWUNT DY 15N R NTHD

1292 DIYYIND |I'T NIVID NIYXDKXRD YXIDD |12V

(M) N"IDN'S'D NN - YIIXD [12*Y 5712 NIT'DI D'ODIY

DX2 'POIX PIWN DX1 DX 'Y DI  ApIN ORIV

wInw
OIRN

:N2DN |9IXR

nynnt

NNV

NN L*PD Pl
d2 IR L2 IR d1 TMIX L1 TMIR (]”-)) NXDIT LN
(n"D) (n"D) (n"D) (n"D) :
8 200 6 550 500 6400-G M12x40 21300
8 250 10 800 1,200 6400-G M16x54 21301
8 350 12 1,050 2,000 6400-G M20x69 21302
10 400 14 1,150 2,500 6400-G M24x78 21303
12 450 16 1,600 4,000 6400-G M30x103 21304

DX2 'PoIX pIvN DX1 'JJX |12'Y DID (PN DDIV

(Rd) Nn912v N212N - YYIXD 1A'V 57712 NIT'DI D'ODIY

NN LD ol
d2 1IXR L2 IR d1 IR L1 X (J”P) NDIT LD
(") (D) (D) (0"D)
8 200 6 550 500 6400-G Rd 12x40 21305
8 250 10 800 1,200 6400-G Rd 16x54 21306
8 350 12 1,050 | 2,000 6400-G Rd 20x69 21307
10 400 14 1,150 @ 2,500 6400-G Rd 24x78 21308
12 450 16 1,600 4,000 6400-G Rd 30x103 21309
14 600 20 2,000 6,300 6400-G Rd 36x125 21310
16 700 25 2,100 8,000  6400-G Rd 42x145 21311
20 900 28 2,900 12,500  6400-G Rd 52x195 21312
6400-G (Lifting Socket) NNINY DIDSPX YW NIMDDIXA NIT'D
g D e L dnom PN ‘On
(D”"N) (n"Nn) (") (D"N) NDIT (vl
8.0 15 22 40 | M\Rd 12| 6400-G M\Rd12x40 | 21300/5
13.0 21 27 54 | M\Rd16 6400-G M\Rd16x54  21301/6
15.5 27 35 69 | M\Rd 20 6400-G M\Rd20x69 | 21302/7
18.0 31 43 78 | M\Rd24 6400-G M\Rd24x78 | 21303/8
225 40 56 103  M\Rd 30 6400-G M\Rd30x103 21304/9
275 47 69 125 Rd 36 @ 6400-G Rd 36x125 | 21310
32.0 54 80 145 Rd 42 | 6400-G Rd 42x145 | 21311
40.0 67 97 195 Rd 52 6400-G Rd 52x195 21312

NNIDWY NN 93 ©




DOMA ONE STEP BEYOND

102D D'DJNIX VI2'PI1 ANIND D'DIDSX

1988 VI2'PI NNIND DIDJN

(1025 DYIV D'DJNOX VI2'PI (102D DHNIND DIVJNIX NNIND DIDJR WID'Y

2112 5V XINOYDP2 NJUZI1IAD ATHOD MUY 1Y 11)'Y NIIXD DIDJX DINN
JINW 1IN0 8.8 PTIN NWIWD WX
NOHY DYIP NIYXHDNI 1LY D'ONIY N2V DV NPV DY HVID
NJIX 1A'y NODIN ,400-2 1021 300-2 [ID2Y DAVIND NYIDV2 D'ODIVN
(L) IR x 1.5 199 RWIN' 102N NIXPD HNYD PNID .JIRWN2 NNPYJ
(L) IR x 3.0 '99 2WIN' D'DIDJN YW |2 PNINN .DIDJRN W H5DN
.D'DIDPRN HW H91DN

NIYXNDKX IX NYINN 2UY T 12UV N2 NIYXDNRI DIDSNRN NXR VIPH W' 12000 [DIN
12N DINOD NIYYDKXI YIPY INIXI 2288 ‘DD P'ODYD PP NN
D'ONIVN NY2PHY,DX2 NY2DN oY ,DMPOIX DPIVIN IDVNY W

NIMOLDIRIA NITD

dnom

\ | NITAIDDIY NYIPD D1 VWD ADINN DT DIPOIND
e | J1yans vinip Hp nynn

= JOIN 1Y NODIN WIIT IR

‘_@ .D'NID2 D'ODIY NYIP TWONRD

| .D"PNLN DHYOPI NN WIN'WH DIRND
DWNT 199 75N X NTY91 NNNN NIT'D NNYN

L 1 NYY (100%) D'ROD DDJN DODIVY PITD |ID2Y DAWIND DIODIV
DT NIND NYOWN
1292 DWOIND I NIDID NIYYDNI YXIDN |1V

|
|
| O

DX2 'POIX PIWM

L2
a?
1988 NNINY DIDJ'X YW D'ONIVI NIMDNINA NIT'D
DX2 'POIX PIVIN oIy SB:?; 33::-; , ,
D e L dnom = P Spp NI LD oD
d2 ’PIN L2 j"ux (D"D) (D"D) (") ?;2!;3) a"p) ") XDIT (b1 s)
(D"D) (n"D) I 400-2 300-2
8 200 15.5 23 100 M12 750 2,600 1,800 | 1988 M12x100 = 21400
8 250 15.5 23 150 M12 750 3,200 1,800 | 1988 M12x150 | 21401
8 250 21.0 29 140 M16 1,500 4,600 2,700 | 1988 M16x140 21402
8 250 21.0 29 220 M16 1,500 4,800 2,700 | 1988 M16x220 21403
8 350 26.0 35 150 M20 2,000 4,800 3,700 | 1988 M20x150 | 21404
8 350 26.0 35 180 M20 2,000 6,700 4,200 | 1988 M20x180 21405
8 350 26.0 35 270 M20 2,000 7,600 4,200 | 1988 M20x270 21406
10 400 32.0 46 200 M24 3,000 7,800 5,800 | 1988 M24x200 | 21407
10 400 32.0 46 320 M24 3,000 10,900 6,000 | 1988 M24x320 21408
12 450 40.0 60 380 M30 5,000 10,200 | 7,600 @ 1988 M30x240 | 21409
12 450 40.0 60 300 M30 5,000 18,300 10,200 | 1988 M30x380 21410
14 600 47.5 74 420 M36 7,000 14,300 | 10,600 § 1988 M36x300 | 21411
14 600 47.5 74 420 M36 7,000 | 24,500 | 14,500 | 1988 M36x420 | 21412
16 700 54.0 68 300 M42 10,000 | 14,000 | 10,500 | 1988 M42x300 | 21413
16 700 54.0 68 460 M42 10,000 | 28,000 | 20,500 | 1988 M42x460 | 21414

15 NNIDWY NN 93 ©




TP DNKXR NAVNN

RIMT

ID2D D'DJNIX VI2'PI1 ANIND D'DIDS'R

DX1 YK |1ty 9112

-

DX2 'POIX PIWM
L2

NIMOLDIRIA NITD

2000 (Flat Steel Anchor) NNIND N'NIY DY DIDJX
102D DYIW D'OJNOX VI2PI ID2D DNILY DHND D'OJNINR NNINYD DIDSN

21P2 NISID NTHON WY DT NN INNNN Y12y Y'Y NN DIDSNR
102NN NOHY DYIP NIYXDNI NDOHW DIDDIY NYIP SV NPV DY HVID
NIYXHDXI IX NYINN 2IY JIT I2AY N2 NIYXDNRI DIDSRN NXR YIPH W
2N DNNDD NIYXDRI YIPY INIXI 2288 'DN P'ODYD PPO NN
MIXD,DX1 N920N oY ,YIIXD |1y 15112 1YNY W DIDDN NN 121 5V
.LILIYH DRNND NWN

,DX2 NH20N 7oy DMPOIRN D'ONIVN NP DIPOIX DPIVIN YN V!
TODIY NY2PY DI YYWNENDINN D12

JyanY viapH Hp

DT [1IL2 'MNOYD NN TWORD

.Rd N5y n1n2n Dy poIon

.D"DNLN DHYONII INKI WIN'WH DIXND

7292 DYDIND [T NIDIN NIYXDR VXD (10D

NWUNTI9Y THONHX NTHD

V2IXD [12'V 9772 NIT'NI D'ODIY

winw
OIRN

N0 |9IX

nynnt

NNV

DX2 'pOIX pIv'N DX1 12JX |12'V DID nr)'—:gl\;))my 0"pH on
d2 IR L2 IR d1 IR L1 0IX a’p) RDIT [v1a[s}
(N”"N) (N”"N) (N”"N) (N”N)
8 200 8 300 500 2000 Rd 12x30 | 21500
8 250 8 500 1,200 2000 Rd 16x35 | 21501
8 350 8 700 2,000 2000 Rd 20x47 = 21502
10 400 10 700 2,500 2000 Rd 24x54 | 21503
12 450 12 900 4,000 2000 Rd 30x72 | 21504
14 600 14 1,200 6,300 2000 Rd 36x84 @ 21505
16 700 16 1,300 8,000 2000 Rd 42x98 = 21506
20 900 20 1,600 12,500 = 2000 Rd 52x117 @ 21507
2000 NNINY N'NIY DY DIDJX YW NIMDPRIXA NITD
e b a h dnom PN ‘oD
(N"N) (n"n) (n"n) (n"n) NDIT (1]
22 25 35 30 Rd 12 2000 Rd 12x30 21500
27 35 50 35 Rd 16 2000 Rd 16x35 21501
35 45 60 47 Rd 20 2000 Rd 20x47 21502
43 60 80 54 Rd 24 2000 Rd 24x54 21503
56 80 100 72 Rd 30 2000 Rd 30x72 21504
68 100 130 84 Rd 36 2000 Rd 36x84 21505
80 130 130 98 Rd 42 2000 Rd 42x98 21506
97 137 150 117 Rd 52 2000 Rd 52x117 21507

NNIDWY NN 93 ©




DOMA

ONE STEP BEYOND

102D D'DJNIX VI2'PI1 ANIND D'DIDSX

DBS NpIX! NN NXID
D'NIND D'VJNIR NNDIND AN WIDIY
NTDIN2 P2N DY NYIYJN NIAD NNIN NXDIYD POIDDN NTHD 52D DIRN
DYDY NN NYIPH
NXRYIYN N2ID 1\3 IWRD DJNIRN HW 192N POND DPXI' IRDION NXR 12D [DIN
NIWORDI NWINI IRDION .JIDIN N2 VIPW 2\3 | (102N YD YYD Iwn
.uDN 5w APINN 119 YWIRNn
VIX'D 7IXD DD DR WIIT IR |ID2N DJNIXRI N2DIND HP NN
Nisanh
. A12XRY 1D 99 TV 0.8-D D'ODIY [112DD DIRND
.DUDNLN DHYONI NN WID'WH DIRND
NIYXDXD [12'Y NODIND TIXN NPT NYILN NPONNN DY YY'NnH w! NNYN
T NILID
NT290 520 WIPN 21T D QYD KW ADINN 1NIVIPY XTHD D1IWN
_ J'20 DPOX VYYNH *TI2 NXTI NN
| 195 NITNI'D NITN2 DBS NN NIXDID NJNTN (119D 'OITJOD 1IN
nwUnT
7252 DWYSIND [IT NIDID NIYXDXD VXD I3V
VPW NYIN NIYEDXI (102 DJDIRN N2 N1 NRIION DX NPXD INY
.DIRND NDIN HpWI
(119)2 DIYWN) NWNT 199 NPT VPON *
DBS npIxX' NDIN NXYIY YW D'ODIVI NINDDINA NIT'D
VI2ID DDIY ” .
- oD D) mn e —
a"p)
9 135 300 2,000 DBS-20 21600
10 140 325 2,500 DBS-25 21601
12 165 370 4,000 DBS-40 21602
18 235 480 8,000 DBS-80 21603
22 280 590 12,500 DBS-125 21604
28 380 750 20,000 DBS-200 21605
32 400 850 25,000 DBS-250 21606
36 400 770 32,000 DBS-320 21607
44 480 1,000 42,000 DBS-420 21608
44 520 1,100 47,000 DBS-470 21609
48 550 1,200 52,000 DBS-520 21610
46 690 1,430 65,000 DBS-650 21611
50 760 1,530 75,000 DBS-750 21612
85 850 1,680 85,000 DBS-850 21613
99 990 1,800 99,000 DBS-990 21614
[[BUVRLb R Dl
DX2 DJX |12y DID DX2 'POIX PIVN
- ‘ L3 ‘ ‘ L4
L.
L1
»4?] v v
azt
X2
iTXZ
L1 L2:
X1: S L4.
W X2: dt: d2:

17 NNIDWY NN 93 ©




ATy nnx naonn RDYT

ID2D D'DJNIX VI2'PI1 ANIND D'DIDS'R

(Lifting Loop) 1260 NNIN NX2ID

102D DDND D'OJNIX NNIND D'OIDJN YN NN WIDW
NXP NAN2N DY 119120 920D IXOID NIRN
.DYDWI YYD NPJ 2N IRIION DX DIDSRN NANDNW RTIO W' 120010 |DIN
XTUY T " THIW NNOD DY S1VJ91 NN NXP TY IXRDI9N NR 2M120H W
DXPNTY DIXRDD NAN2N
.M NMLPHIHN NIAN2N DY POIOD Ny
.PNOI NN HP
J1I020 NN 2XY2 AN P DRND
.DDNLN DHYONII IR WIN'WH DIRND
NN2192 NT99 920 WIPN 2172 AN GYNN HW IDINN 11IVIPY XTI V!
"D DPOX VYN 11D
JUYTRD NDIN NP2 WDNWND XIDIN NNYN
(719J2 DIYWN) NWNT 195 NPT 1POoN *
nind nnIn DIV i /
ple]ph] © r”1 N202N NIT'HD NN D ?D
M) (D"D) (D"D) D) NDIT LMo
1 20 155 M12x1.75 500 1260-M 22000
1 25 155 M16x2.00 1,200 1260-M 22001
1 33 215 M20x2.50 2,000 1260-M 22002
1 40 255 M24x3.00 2,500 1260-M 22003
1 56 300 M30x3.50 4,000 1260-M 22004
1 67 340 M36x4.00 6,300 1260-M 22005
1 80 425 M42x4.50 8,000 1260-M 22006
1 97 480 M52x5.00 12,500 1260-M 22007

(Lifting Loop With Pressure Plate) 1270 NX'N NY2L DY NNIN NXRID

NNIN 921D ,JIL2D DINNL D'OJNIX NNINY D'OIDJK YN NN WIDW
90° NYIT2 NY2NN
DXP NIN2NENXND NN DY (19120 520D RS DIRN
.DYDWIIHIOD NIPJ 2N IR2ION DX DIDSRN NIDNY RTID W 12D |DIR
NOWNY TOXIN N'NIYHY 1D N2NN NXP TV IRYIYN NXR 21N2NO W
NLWNY NINION YW IROD NTRXN XTI T FTIHY NNOD DY 21VJ91 (102N
JIv2N
.Rd N912y Na12N DY PoION Dy
PN N2 Op
102N NLWNH 2X1YII H1IPP NNIND DRND
.DIDNLN DHYONIIINKD VIND'WH DIRND
NT29 920N WIPD 2T NN NN SW ADINN I1IVIPY RTIH W1
"D DPOX VINY 11D NXRIIND
JUYTRD AN NP2 wpNwnh X9nIn NNYN
M NMLPRHID NIN2N DY 22PY INY NTNID NWNT 19
(T19J2 DIYWN) NWNT 199 P12 IPON *
nnIn DIV
e h L"PN ‘On
> ) N202N NIT'D NN ;
(N"N) (D"N) a’p) RDIT (vl ]s)
16 310 Rd12x1.75 500 1260-Rd12 22100
21 345 Rd16x2.00 1,200 1260-Rd16 22101
26 410 Rd20x2.50 2,000 1260-Rd20 22102
31 435 Rd24x3.00 2,500 1260-Rd24 22103
39 490 Rd30x3.50 4,000 1260-Rd30 22104
47 570 Rd36x4.00 6,300 1260-Rd36 22105
55 650 Rd42x4.50 8,000 1260-Rd42 22106
68 760 Rd52x5.00 12,500 1260-Rd52 22107

NNIDWY NN 93 ©




DOMA ONE STEP BEYOND

102D D'DJNIX VI2'PI1 ANIND D'DIDSX

(Lifting Loop Swivel Eye) 1280 22INDN NN Y9pW

2244

NNIN 991D ,]1L2D DINNL D'OJNIX NNINY D'OIDJX YN NN WINW
90° NYIT2 NY2NN
NXP NIN2NIEN22NDD NXND NN DY NYI2X DTN PID NN HpW DINDN
.DYDWIHIO0D NIPJ 2 HPWN DX DIDSRN NIDNY RTHD W 12010 |DIX
JIL2N NOWNS THXIN N'NIYAY 1D NIN2NN NXP TV HPWN NXK 112ND W!
DXPN TY 10210 YPWNW XTID T NN DX Ypwin DY 21v)91
.LIDJRN VXD 21IDD 360° 2DANDN NXRION [DD NN
.Rd N912y Na12N DY PoIOND DY
PN N2 Op
JID2N NDWNY 21X 2PN NN DRND
NIXWYJ DIDJRI NA2NN IWRD YPWin W 360° XD 212'0 IWORD
nyaipn
.D"DNDLN DHYODII INKRI VIN'WH DINND
JUYTRD AN NP2 wpNwnh X9nIn :NYN
M NMLPRHYID NIN2N DY 22PY INY NTNID NWNT 19
(T19)2 DIYWN) NWNT 199 P12 IPOoN *
VI2'p ODIY o y
(D(:D) (D';D) NA2N NIT'D 'IIJ',)ID \;g‘? D?’\%
4 a”p)
16 125 Rd12x1.75 500 1280-Rd12 22200
21 150 Rd16x2.00 1,200 1280-Rd16 22201
26 160 Rd20x2.50 2,000 1280-Rd20 22202
ji 31 185 Rd24x3.00 2,500 1280-Rd24 22203
39 220 Rd30x3.50 4,000 1280-Rd30 22204
47 225 Rd36x4.00 6,300 1280-Rd36 22205
55 255 Rd42x4.50 8,000 1280-Rd42 22206
58 345 Rd52x5.00 12,500 1280-Rd52 22207
2288 -1 2244 DIDJXD D'PPO
01535 NoYd NYYNH NIDID IX NYNT DIDJRN NND NNND WIDW
TYIDI DIDSRN NND NS NXNDD DJOIN ,2244 210D XINY P'ODYO PPoO DIND

PN DT 102 X190 NDYD NYYNH

NYYN TYINI DIDSRN YN 021D ,2288 AIDD N2UND P'ODID PP
DY NYINY DIDJN VI2'P NIWORD ,NPININ DT |10 ¥'DI 1929 NDYD
NP INKY 'PJ NOWD NYIPI DINOD
1280-1 1270 NNIN NXID DY WIN'WH TNI'DD DINND

PPON NDJOND YO DYNWI YYDHD N'PJ DIDSNRN NANDNW XTIO W' :N2DIN |DIN

\NY2 MNID PPONY TV T2 NNYD D'XNIY 2244 210D P'ODYON PPO NX
.DIDJRN NND NX
.LIDJRN YN NX DN 2288 AIDD P'ODIDN PP NX

20D INTY D'OYI2 DYIXD POIDD Ny
PN91 N2 Op
DIDJIRN NYIIP IWORDI DIDJRN NN YN OX I NDYD VIID
XV NYano
.DIDNLN DHYONIIINKRI VIND'WH DIRND
dnom RXDIT VP DN ‘DD dnom RXDIT O"PD LN ‘DD
M16 2288-M16 22310 M8 2244-M08 22300
M18 2288-M18 22311 M10 2244-M10 22301
M20 2288-M20 22312 M12 2244-M12 22302
M24 2288-M24 22314 M16 2244-M16 22303
M30 2288-M30 22316 M20 2244-M20 22304
M36 2288-M36 22317 M24 2244-M24 22305
M42 2288-M42 22318 M30 2244-M30 22306
M36 2244-M36 22307
M42 2244-M42 22308

NNIDWY NN 93 ©




ATy nnx naonn RDYT

NN D'DIDJX \ DYAIY SV DHVION D'ONIVA AWN NI NINYn

Dead load - WYINDN DJNINN YW 'NDXYN IPWNN YN
WYINDN DJNIRN NOJ X P"D\AP 2,500 = G
P7D\Y’P 2,500 IV NPOY |1D2N YW HNDN HPWDN DY

l'l'J:ll'l') wVINDN DJNIXN SW (Adhesion) NIP2TAD AXRXIND XN ODIVA 2N

YN PN HW HNIDDN 190D NIDN YN, NYINNN NNINN VIXD Y99 ,INYN HID N'NOND Wi NIPTNN NID NX
:NNDYN 199 2WIN' (Adhesion) NYIND NIP2TNN NXXIND XY (Ha) DDIVN

2IDD NRXIND DYNWD D'YDRDN .19 DITINXD NYINN 'PONTWYINDN DJNIRN 2 IXYN NIPTAD YPDRDN = g
DN 2AWNYD DIXIDINN DIXDRDN ,NOW AUNIANT NYINN

g= 1 KN/m2 NIV NTY9 NYIN
g=2 KN/m2 PYN N2 YV NYIN
g=3 KN/m2 D2IN2 XY NY2N

| Ha=qxA | :nAnowaomIx Yo % nip21an NXNIND ODIYA

1NDD NDJ HYI D'OJNOIXI .Ha =2 x G D DTPHNN NKX 27TAND WIINI NI NIP2TH NID [I2WN2 DNPY W' T NNIP2
Ha =4 x G DTPNHN NX Y170 W NI N2 NIP2TH NID [12WN2 NNPY W' N2

:WYINDN DJNIXRN YV DHYVION (Dynamic Load) DN TN D'ONIVN 2IWN
MDD NIRWD DT IR D'VIDP D'DPYD ,I‘IIH')D NIVXDXI VJIVDI DD wyvinnn DJD')N-’] IWNXD
:N9202 ININND DJIT DTPD NIYXDXI JOD ARXIND DXYN D'DJ TN D'ODIVA NX |IDWN2 nnp‘J ws

nxnp nDIN NN 105 NN DTPD f ;NN NIYVOWN X991 NYI2P NNIN NNMID YV DIDYND WIN'WI
i VHAPT\IDD DIN15018 105 D'NDIND DHYONI WIN'WI I9X |12
NPT\IOD 90 TY | NPT\IDD 90 YYD 1.3-1.1 DTPN2 WNNWNY XODID
H1 VH 1,1+0,0022 1,3
H2 VH 1,2+0,0044 1,6
H3 VH 1,3+0,0066 1,9
H4 VH 1,4+0,0088 2,2

:WYINDHN DJNIRND 2V HV91D70 92100 DDIVA 2WN

DINYRN OPYD INGIWNRD [ V2=Gxf | vywnpr2 [ V1 =G + Ha |:n1nn pn

NIRD P DYV DIP'D
) 2WIN' 1Y 929 DDIVN, TN 7DD DN MDN!OX DYAIYN NIT'D TWRD
R Re JT2100 10D VN YW PNINS DIRND DN

Lo b ]
:NNT XY T20N 120D PNINN IWRD DYAIYD YV DDIVA WD
/\ 4 | Ra=Vxb/(ath) |
ﬁ* | V1=G +Ha |
T2 DD ARTI W YW ADIN 1D N WYINDN DJNIRN W NIDONNN YN 11D :0IYn
WYINDN DJNIRN HW TIDN 1IN HYD PIT RXD! (MNDINN 1) qUNN SV INDINN NTIPJY
PR D'ONIVA SV 9200 YW ININD NNT NYOWD
o o0 Va2 15N b Y2010 YW NIITH ,NJTRD NP2 WINW NWY) X1 DTN
750 101 { 72D ARXIND .qUPN HW ADINN 11D 21V DX 12NDN 5200 NIK2
1500 Toa ; I (N9520 NRD),Z DTPN2 YN HY NN DRIV NX 120N POIXR NID H2PND
22,5° 1,08 P | Z=1/cosR |
232 1;2 ;90972 NODID DYAYN SW UT'DN IWKRD [AIVD YV DDIVA NX 2WNH v
45,00 1,41 | R=ZxV/n |
52,5° 164 NNINY DYAIYN 190D = n

60,0° 2,00

NTD NP2 X1 T2 NWNNND DIDIVN :NIWVN

NNIDWY NN 93 © 20




DOMA

ONE STEP BEYOND

NN D'DIDJSX \ DYAIY HV DHVION D'ONIVA AN NIDD NI'NYN

:2 -D Y172 0YAIY 190N WYIND DJNIX NDIN

121y 929 12VINN DRIV DX 2WNY NWP ,DYA1Y NWISWND INIF DY DNODWN1NNIN YAy Jwn NIk Dy NPl

|2 NIW DPIYN2 12YI DRIV D XTIHD INY XD [RODI TN 1DIND NNILDID NNIXD DATIDN DYAIYN DY DA ,PITNI
SV DY APIYN IWOR! ,ADITIIL,APIYN NIYID NPTRD NNIP NDATD DODIY NPIYN YXDKRD WID'WN .DYAIYA 9D
[12wN2 NNPS Wi .DINN2 |I'DY YY1 JDOIN DTN T Y DIODIVN NPIYND DIYYDRN NX TWXR1 2WNY W .DDIVN
N2 NND [D1OYOND [N YXINND TN IDRN DIYXDNRD WID'WN 1D

190D 12YW TNX NMIPHN LYND ,D1H2D NWISWN NI IWAD! XD NNIX DD 1D [12WN2 NPID NINDN NPIDN NPY
UNN SW ARINN 1D YINN TNRI DJNIRI DYAIYAD DYIANN DH2D YW ININD ,NVIBY DJNINI DYAIYD

:DYWD 9172 DYAIY 190D DY D'WYIND DIVJNOX NNIND NIXDAIT 120D [HND

,OJNORN AWINI NN R DYV TNXR 920V 95212 NIIY XY D'ODIY NPIYN
20NIWD DY 19 11yn 9205 DNy

n=4 WYINDN DJNINI DYAIYN 190D

n=2 D'ODYINN DYAIYN 190D

.DYAIY YW DM2IND NXP DD DNDRIN'WRI NJTRD NP NIYYDKI NIY D'ODIY NPION
n=4 WYINDN DJNIND DYAIYN 190D
n=4 D'OPYINN DYJAIYN 190D

.DIODIY NPIYNS DIYXDRN X 'R ,NDIN NITIPJ WISW 2 DY DIODIY NPIYN
n=3 WYINDN DJNIND DYAIYN 190D
n=3 D'ODYINN DAV 100D

f v ,NDINN 119 D2'NIDYAY YW P NYWD NJTRD MIP NIYXDXI DY DIODIY NPION
DNNKRN DYaIvn Jyw oy !

n=4 WYINNN DJNYNI DAY 190D
n=4 D'ODYINN DYJ2AIYN 100D

DT NP2 RO T292 NWNNNYD DIDIVN NIV

21 NNIDWY NN 93 ©




RMT

NNIND D'DIDSX \ DYAIY SV DHVISH D'ONIVN 2AWND NIHD NN

TR NNR NAVYNN

DY NPTIRD NNIP MY NWRY DJTRD MNP NIYYDKI DY D'ODIY NPIoN
n=4 WYINNN DJNINI DYV 100D
n=4 D'OPVINN D'JAIVN 190D

wYIND [ID2 (2J9) VP XPAT

nUshieheRVJLHUIiVs) sk ) sah)]

15 N/mm? :ninoY nnInn D12 102 PTIN

g = 1 kN/m? :nyan? 1020 YW NIp2 TN DDIY
f=1,1:5V902 QDN YV NNIN DTPN

=1,3 :01Y2N MR DN SV YIPIUS AN DTPD

n'oniy
G=0,20x8,0x3,0x25=120)"p JDXY ODIY
Ha=3,0x80x1=24)"p :NYINY NIP2TN ODIY

V=G+Ha=144 )P

:NDINN DT DD ODIY =V,
VWD D12 551D DNIY =V,

V = 991D PN ONIY
1x144x0,5=79.2)"p
=1,3x120=156.0 )P

V, =1
vV

2

R = |21y 929 NN ODIY

R,=V1/2=79.2/2=39.6)"P /AR, =40J"P
R,=V2/2=156/2=78.0)"P 7 *R,= 100 J'D

(P 100) 1D 10.0 = INYN UV DDIVD

110 1.0 = J”P 10 :NWN
NTD NP2 XY1TIN2 NWNNND DILIVN :NWYD

NNIDWY NINDTN 9D © 22




DOMA ONE STEP BEYOND

NNINDY NN 9 ©




ATy nnx naonn RDYT

D"99D D" INON D'XJN

D99 DMINDD D'NJN

("PODN” :[9NY) 512416215 O.N ,N"Y (1996) INDI ['J2Y PI'Y KDIT

DTN NN DIAOND ,”POON” 91D ,”RDIT” N IXINDN NX WIDD I'NND |'DTHN

("NINNN” :[50Y) T2 N”YD NODIND IXINN 112V IRDDN NINNN NX PODY DHWH 2NND 'NTHN

NYDTNN NN NWIRY 19D DIYWN RN IXINN NPODKX Y MINNN DX POD DOW! 'NTHN

IXI91D2,1'99D DIYWNN N2IN2 TINY! XY 'DTHN DX |'NTN IXINN NX PODY XOW IXWI PODN D, VITI DDIDID

'DTDN 199D PODN HW NIFMNNNN NION NN XD 12T DI TVIDII

JTYD MINNN RISD DIYWN INXY PR 'NTRN T 12VIN INIDN YV NISYIN D VIT1 DDDID

PIV2 MANYN NHODOPHRN NAINND 12N N2122 DNIAYD NN L,PODY 'NTNN DOW!,DIYWNN VIXD TVIN2 INK YD |22

D2T2 WRIND DRINN NNY 9210 (1IN T 922 IXINN YW MITNN 12IX'Y DX NYWH NIDTH 9V DIV PODN

INLHW IX/LNIMNND PR DT UNKRY 92D ,IXINN NPODNI NN |22 'DTNY DAY PTJ Y2 2IND NN XD PODN

NIIX IN D' NIS'WI 21DV ,N2YA,NNNYD ,NIVD JIDD'W ,NONY ,ANDW INL N2V 11DV NID :5WI NIDTD ,poDn SV

JXIDD NPODK FTVID NDIRNYD ,NDRNND RDT PODN NYL,NT YD DHYDN DIPNN TNXR NP2 .ADITII

DT DDDN HW NNDND 2WNM XD DIN' 7 DY NIV JIRW IXINDN NPODNI IINIR

L2INIDD VT WID'W NIWYILL,NIN NYTOP IXINYD NN NINYD2NIT WIN'WN NIXIIN NN XYNDD 2'NND 'DTDN 9
.DH2APNN IX /1 D2NDN NNNTN 59051 YT DRNND ,NY D2 ,51V¥95 2MNND 'NTNN 40P ININNII 12'D5 DXNND

JXINDD JIWRIN WIDWN DIV IDYOD NINFDI NIPFTI JNYY 2'NND 'DTNN 10

ININNS1IXINN 2IDY DXNND,[PI'DIL,NDIYD JDOIN DTX NID Y P NWYHINIDI WIN'WN 1D 2MNND |'DTN 11

JWUDND WIXPD NIP'O NNN DWYH 1YY IRINDD XN WINWN D ' NND 'DTDN 12

IN/1LYOWT IR /1P WIDIW D100 NIWN SV 10,9V IRINDD IXIND WIN'WN [DIRW 1D VIT 1D XD 'DTNN 13
WD TR GRI NNINN NIYVINDI NYIXND DINAY ,N9*9N1 DN WY IXINDD NIV

NN /1 TRXR NNON YW DINY NIISYN NIRXINGD [DIXI MIX DIV 'RINK 9 XD POON 1D ,DD0INI 'DTROY VIT' 14
ADYOD D IR /1 DTON TV DN 91V DN NNTN HYDD

L(DITNIP) YN, NPINY NI IXIDN NIDIRI DD Y YIOWnD DHDIYVYN D DDA DJW! 1D ,ID VITH D INXD 'DTDN 15
LDWTIN NNNITN 99D 5V MDY [VDO1,[D SV IWR . IX NIRIIN 199 XOW IDNXRI NDTIY NDDYN ,NINDIIDT
I'wWHRNY [NY DRN [IN2Y,[D1 IXINDN 2'O Y THRND NIPIDIININD WIN'WN NYNNN YO NIPIT )NV DTN 2*NND
NIINRN D 0021 POD 10N (YN [T IR IXINN NIDXIDIL YV DDIIRN YW DNYDSWND 29 D'WI 12 WDNWNYI
1292 'R SW A NIPYTAN SW NN NYP NI INKD NIPT2N NDNYH

AXINN 20D VNI WY LIDYDD 1D T IX /1T INTOD INKRD INID YW IR /I IPN YOW 1D YIT D XD !N 16
N2 PODN D DDDIN ,POD DN VN IXNINN 2'DY NINNKX 9D PODY XNN XD NTOW NIPN D2 1D1,INIDIKR DY VIownHI
AW IR IR /11'W 12 TIVJW INIDD INWD [DIRD 'RINK X!

TNXR NNP2 INIDN NN IX /12109 'RINKR XD'RD POONW 19 VITHID WNXD 'NTHN 29 ANDKRN NIHSID v HIn 17
9N5W DPNAD NI IR /I
J'PTDN DYLD D IX /I 'DTRN FTOY TP DIYY PTJ X
ADYOD 1D IR /1IN OV YHW IX /1 1NT RO WIND'W 2PY DY P1J .2
21YON2 WTIN [I'OYNI NITNDINN SV PIRW DTX NID Y POON NIMYAD NIV IX /1P WINW IPY DY PTJ.2
JXIDN
PODN NDHWI IPRY YININ NID IPY IR /1'WHY TX NIYYDXI DY P1J.T
DTN OV ANIDD Y IR /1 [IPT NDNIY INKRD DY PN
JNIN2 1NWH9D 297 NOYNN 2PY DIYW PIJ .

A WN =

O N O WU,

DINID NMTND NIYPTD

DYIV MITNNINPODK RIN NYIX DX XOX) MINDN NP TVIDD DOTYOP D! 7 TV ,NIPHY IPDIDW DAIXID VNN NY »
.DNXIND WIN'W 9D NWYJ X1 NNIPDN DNTIRD NTNIY 'RJN2I (DTN
DNINID IN,(IXITDN) INX NI 91D IX NOOINY 11 L,DBAR / UPSET / BMS NIDIND ,CBOX D'XIP NIYYN :|12D DNIXID DAININD 112y
971N IX IR RDIT YW POD HW TNID DI 199 XDITO 'DTNN Y TN [2IN2 YOTIN IWN
JXINDD DX PINNY IX Y029 99NN DYWH PRTNN 221 X ,I'DTHN Y NIDDD NYNTN VIXDI VIXD / YNTNN 'OID WX INNKD

2010 X"YWN [DIXN NJAN DYPN D'D19D - DIDID NINPD Y NNTNNIEDDIDD -

NT'D2) 'NIWKRN DILID HW NPHD DT NI NIRWI NINN XDIT, DTN Y DIXID NITNN S NP2 D100 DT -
.DHOID / DITNINN DIXINN VN 5% YW O TY 1012 DT N2AN KDIT,[D NI ,('NIWX D'DIDD NYNID NPOVNI

2NN 'PTNN .PODY NNINY (NNITDI DX NIDT,DATH ,INDD [P'D :NIDYD) ININD NIVAN DN NIIDT RIDD 18
"2 ,IXINS DNIWPN DDWANI DDNON NN2YN NIYYDND NIDYY NI PODN YW YNNN 'YP2 WIND'W NIVYH XHW
JUHY TN DY [DIND |21 VW [DIND

N2Y NYPIN T NPOY DJYYY NN0OWD NPTNN IR/ NPIOND IR/ DYIN IR/ NORY 9D 22 NFTY92N DID'WN NIDND 19
212X-9N2 DDNDINN

NNIDWY NN 93 © P




DOMA ONE STEP BEYOND

D'"JDTY DAIYLPI DINID SV DTIVD VTN
NN DIYOLPN TINDYY 1DON1 TIPN NX IPID
www.doma.co.il/DIYDP

ADTp IAR navnn

TN AIonn

ABTp MR nawnn

JID2I P'ODYOD PPN DY =
NONDI P'ODYOD D'Y'DND

DITIAXI NN NN m\)m\
NIYVIND NIYIN

AP AR mavnn

NP'Y NPDONY NDIWYD
1'T NIDIND NDIXRNI

'y niYyn
W'D WX 12 NIYXDKXI DNI2'N

AP MR mavnn

NDTX NDIT'VI NIDYONN NN NYINN NOX NOXI ND'DNY NIHN
C/S Group

n2'DN NI
NIYIX'N NIOX NIOXTD

NIYIX'N NIDX NIOXI NDHDNY NIHA
Buzon NXDIT

www.doma.co.il NI2NN NN IR XDIT NN2N YW DYHIDN DINDNN DRJIND DRNND DIXINDND NIDD

NNIDWY NN 93 ©




NN 1P I'TIVO

73 (1996) 1Y Pay vy NIYT

03-9026066 :0P9 ,03-9026067 :DV
www.doma.co.il
E-mail: sales@doma.co.il




